R3.4.1

OHMIASI=—Tst2 53— FIAM XeTIHMLEY (HEAL:M)

AEEE(EE) FERER A 2 THUR
(RBEEEBERER) (REEE+HEFAR)
11 KEEBEE 1 200 400 600
2| KRBEBE 2 600 1,200 1,800
3| KeEE 2 800 1,600 2,400
4 = 200 400 600
5| EREERET=E 500 1,000 1,500
6 THE= 200 400 600
7 RERE 200 400 600
8| FEMH=E 200 400 600
RBR—T 150
O ERE
ARarOo
N 10 200
H AR ER 2R
A= 1&8 150
@1E—H&
HE 294X 1K 10
O — H5— B5-A4-B4 50
Ho5— A3 100
ORI E &
[R kR (X 1K 50
1 ~508 Fm@E 2
I 1 ~50# Mm@ 4
50t F@E 1
508t @ 2

XA/ =T A— DR A AZX 1 2 . A3HA4X 18 4 ABILEMNYET,



